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M. A. (Fourth Semester) 

EXAMINATION, May-June, 2021 

POLITICAL SCIENCE 
Paper Sixth 

¼yksd iz’kklu] Hkkx&4½ 

Time : Three Hours ]  [ Maximum Marks : 80 

uksV % funsZ’kkuqlkj lHkh [k.Mksa ds mŸkj nhft,A 

 Attempt all Sections as directed. 

 [k.M&v izR;sd 1  

(Section—A) 

oLrqfu”B@cgqfodYih; iz’u 

(Objective/Multiple Choice Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A 

 Attempt all questions. 

lgh mŸkj dk p;u dhft, % 

Choose the correct answer : 

1- Hkkjr esa inksUufr izfØ;k esa ^;ksX;rk dk fl)kUr* dc ls pyk vk jgk 

gS \ 

¼v½ 1853 

 [ 2 ] E–886 

¼c½ 1886 

¼l½ 1887 

¼n½ 1880 

Since when in India the ‘Principle of Merit’ is followed in 
promotion ? 

(a) 1853 

(b) 1886 

(c) 1887 

(d) 1880 

2- ‘kCn ^vksEcM~leSu* fdl Hkk”kk ls mRiUu gqvk gS \ 

¼v½ vaxzsth 

¼c½ LohfM’k 

¼l½ ySfVu 

¼n½ mi;qZDr esa ls dksbZ ugha 

The word ‘Ombudsman’ originated from which language ? 

(a) English 

(b) Swidish 

(c) Latin 

(d) None of the above 

3- Hkkjrh; iz’kklu 
---------------------------

 izk:i ij vk/kkfjr gSA 

¼v½ fgUnh 

¼c½ Ýkalhlh 

¼l½ vaxzsth 

¼n½ vesfjdu 
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Indian administration is based on .............. Pro forma. 

(a) Hindi 

(b) French 

(c) English 

(d) American 

4- vuqeku lfefr esa lnL; la[;k fdruh gksrh gS \ 

¼v½ 22 

¼c½ 20 

¼l½ 15 

¼n½ 30 

How many members constitute Estimate Committee are 
there ? 
(a) 22 
(b) 20 
(c) 15 
(d) 30 

5- ctV dk;Z lEcU/kh ;kstuk 
----------------------------

 ds fy, gksrh gSA 

¼v½ jktLo dky 

¼c½ nks o”kZ 

¼l½ rhu o”kZ 

¼n½ ik¡p o”kZ 

Budgetary works planning is applied for .................. . 
(a) Revenue period 
(b) Two years 
(c) Three years 
(d) Five years 
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6- jkT; ljdkj ds ys[kkadu j[kus dk nkf;Ro fdls lkSaik x;k gS \ 

¼v½ ;kstuk vk;ksx 

¼c½ lh- ,- th- 

¼l½ lkoZtfud ys[kkadu lfefr 

¼n½ vuqeku lfefr 

Which body is responsible for the accounting of State 
government ? 

(a) Planning Commission 

(b) C. A. G. 

(c) Public Accounting Committee 

(d) Estimate Committee 

7- ctV ds dj vuqekuksa dks fdlds }kjk rS;kj fd;k tkrk gS \ 

¼v½ foŸk vk;ksx 

¼c½ izR;{k djksa ds dsUnzh; cksMZ 

¼l½ ;kstuk vk;ksx 

¼n½ foŸk ea=ky; 

Which body prepare the tax estimation ? 

(a) Financial Commission 

(b) Central Board of Direct Taxes 

(c) Planning Commission 

(d) Finance Ministry 

8- Hkkjr esa ljdkjh deZpkjh vkpkj lafgrk esa ls gS % 

¼v½ drZO; ikyu 

¼c½ migkj ysus dk fu”ks/k 

¼l½ jktuhfr ls i`Fkd~ jguk 

¼n½ mi;qZDr lHkh 
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Which of the following belongs to government employee 
conduct of rules ? 

(a) Performance of duity 

(b) Gift prohibition 

(c) Political inaffiliation 

(d) All of the above 

9- fàVys ifj”kn~ dh LFkkiuk baXyS.M esa dc gqbZ \ 

¼v½ 1920 

¼c½ 1925 

¼l½ 1916 

¼n½ 1910 

When did Whitley Councils establish in England ? 
(a) 1920 
(b) 1925 
(c) 1916 
(d) 1910 

10- dsUnzh; lrdZrk vk;ksx dh LFkkiuk fdl lfefr ds lq>ko ls dh xbZ \ 

¼v½ v’kksd esgrk lfefr 

¼c½ laFkkue lfefr 

¼l½ d`”.kk esuu lfefr 

¼n½ cyoar jk; esgrk lfefr 

The establishment of Central Vigilance Commission is 
recommend by the following committees : 

(a) Ashok Mehta Committee 

(b) Santhanam Committee 

(c) Krishna Manon Committee 
(d) Balwant Rai Mehta Committee 
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11- fu;a=d o egkys[kk ijh{kd dh fu;qfDr dkSu djrk gS \ 

¼v½ iz/kkuea=h 

¼c½ eq[; U;k;k/kh’k 

¼l½ jk”Vªifr 

¼n½ jkT;iky 

Who appoints Comptroller of Auditor General ? 

(a) Prime Minister 

(b) Chief Justice 

(c) President 

(d) Governor 

12- dsUnzh; vUos”k.k C;wjks dh LFkkiuk dc gqbZ \ 

¼v½ 1951 

¼c½ 1960 

¼l½ 1965 

¼n½ 1963 

When did Central Bureau of Intelligence establish ? 

(a) 1951 

(b) 1960 

(c) 1965 

(d) 1963 

13- ^vfo’okl izLrko* dk nwljk uke gS % 

¼v½ dke jksdks izLrko 

¼c½ fuUnk izLrko 

¼l½ vlgefr izLrko 

¼n½ lgefr izLrko 
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Following is the other name of ‘No Confidence Motion’ : 

(a) Adjournment 
(b) Consure Motion 
(c) Dissent Motion 
(d) Consent Motion 

14- ßinksUufr esa ,d O;fDr fuEu Lrj ds mŸkjnkf;Ro ds mPp Lrj ds 

mŸkjnkf;Ro dks izkIr djrk gSAÞ ;g fdldk dFku gS \ 

¼v½ ,y- Mh- àkbV 

¼c½ pkYlZoFkZ 

¼l½ fofy;e th- Vksjis 

¼n½ izks- foyksch 

“A promotion is a movement from a position or a status on a 
higher level of responsibility.” Whose statement is this ? 
(a) L. D. White 
(b) Charleswarth 
(c) William G. Torpey 
(d) Prof. Willoughby 

15- Hkkjr esa thjks csl ctV dk izkjEHk fdl ea=h ds }kjk fd;k x;k \ 

¼v½ eueksgu flag 

¼c½ ,u- oh- flag 

¼l½ oh- ih- flag 

¼n½ mi;ZqDr esa ls dksbZ ugha 

Following Minister begins the zero base budget : 
(a) Man Mohan Singh 
(b) N. V. Singh 
(c) V. P. Singh 
(d) None of the above 
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16- yksd lsok dk ijEijkxr xq.k % 

¼v½ la?k”kZ 

¼c½ okn&fookn 

¼l½ rVLFkrk 

¼n½ rkuk’kkgh 

Traditional quality of public service : 

(a) Struggle 

(b) Debate 

(c) Impartiality 

(d) Dictatorship 

17- Hkkjr esa vyx jsy ctV dk izkjEHk dc ls gqvk \ 

¼v½ 1901 

¼c½ 1951 

¼l½ 1910 

¼n½ 1921 

When did separate railway budget begin in India ? 

(a) 1901 

(b) 1951 

(c) 1910 

(d) 1921 

18- izR;sd iz’kklu dh lQyrk dk mŸkjnkf;Ro gksrk gS % 

¼v½ mlds deZpkfj;ksa ij 

¼c½ mlds /ku ij 

¼l½ mldh e’khuksa ij 

¼n½ mldh turk ij 
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The responsibility of the success of each administration 
depends on : 

(a) Its employees 

(b) Its money 

(c) Its machines 

(d) Its public 

19- tulaidZ LFkkfir djus dk ek/;e ugha gS % 

¼v½ fQYe 

¼c½ Hkk”k.k 

¼l½ foKkiu 

¼n½ mi;qZDr esa ls dksbZ ugha 

Which of the following is not the means public relation ? 

(a) Film 

(b) Speech 

(c) Advertisement 

(d) None of the above 

20- iz’kklu dk dsUnz 
-----------------------

 gSA 

¼v½ turk 

¼c½ iz’kkld 

¼l½ jkT;iky 

¼n½ jk”Vªifr 

Centre of administration is ............... . 

(a) Public 

(b) Administrator 

(c) Governor 

(d) President 
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 [k.M&c izR;sd 2 

(Section—B) 

vfr y?kq mŸkjh; iz’u 

(Very Short Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A ¼’kCn&lhek 30 ‘kCn½ 

 Attempt all questions. (Word limit 30 words) 

1- Hkkjrh; iz’kklfud lsok ds fdUgha nks izf’k{k.k laLFkku dk uke 

crkb;sA 

Name any two institutes of Indian Administrative Service. 

2- ctV ls vki D;k le>rs gSa \ 

What do you mean by Budget ? 

3- fu.kZ; fuekZ.k izfØ;k ds dksbZ nks vax crkb;sA 

Write any two elements of decision-making process. 

4- Hkkjr esa foŸk ij fu;a=.k j[kus okyh fdUgha nks lfefr;ksa dk uke 

crkb;sA 

Name any two committees which control the finance of 
India. 

5- lapkj ds izdkj crkb;sA 

Explain the types of Communication. 

6- tokcnsgh dk vFkZ crkb;sA 

Explain the meaning of accountability. 

7- fï Vys ifj”kn~ ls vki D;k le>rs gSa \ 

What do you mean by Whitley Councils ? 

8- tulEidZ ds izeq[k lk/ku D;k gSa \ 

Enumerate the means of public relations. 
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 [k.M&l izR;sd 3 

(Section—C) 

y?kq mŸkjh; iz’u 

(Short Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A ¼’kCn&lhek 75 ‘kCn½ 

 Attempt all questions. (Word limit 75 words) 

1- HkrhZ dh izeq[k leL;k dks crkb;sA 

Explain the major problem of recruitment. 

2- foŸkh; iz’kklu dh fo’ks”krk,¡ crkb;sA 

Explain the characteristics of financial administration. 

3- iz’kklu ij U;kf;d fu;a=.k ds lk/ku crkb;sA 

Explain the means of judiciary control on administration. 

4- dk;Z fu”iknd ctV ls vki D;k le>rs gSa \ 

What do you understand by Work Performance Budget ? 

5- usr`Ro ds xq.k crkb;sA 

Explain the quality of leadership. 

6- yksd ys[kk lfefr ds dk;Z crkb;sA 

Explain the work of Public Accounts Committee. 

7- ^vksEcqM~leSu* ds Hkkjrh; izfreku dks le>kb;sA 

Explain the Indian pattern of ‘Ombudsman’. 

8- yksd iz’kklu esa Hkz”Vkpkj c<+us ds dkj.kksa dks crkb;sA 

Explain the causes of corruption in public administration. 
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 [k.M&n izR;sd 5 

(Section—D) 

nh?kZ mŸkjh; iz’u 

(Long Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A ¼’kCn&lhek 150 ‘kCn½ 

 Attempt all questions. (Word limit 150 words) 

1- dkfeZdksa dh leL;kvksa dks le>kb;sA 

Explain the problems of personnels. 

2- Hkkjr esa ctV fuekZ.k dh izfØ;k dks le>kb;sA 

Explain he Budgetary process in India. 

3- iz’kklfud O;ogkj esa usr`Ro dks ifjHkkf”kr djrs gq, dk;Z dk o.kZu 

dhft,A 

Describe the function of leadership while defining it in 
administrative behaviour. 

4- yksd iz’kklu esa lapkj dk egRo crkrs gq,] lapkj ds ekxZ esa vkus 

okyh ck/kkvksa dk o.kZu dhft,A 

Describe the importance of communication in public 
administration while discussing the barriers. 
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